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QUESTION 1

Which three options correctly match environment variables with their specific functionality? 

A. ORACLE_SID specifies the instance name. 

B. ORACLE_SID specifies the global database name. 

C. ORACLE_BASE specifies the root of the Oracle Database directory tree in all platforms. 

D. ORACLE_BASE specifies the root of the Oracle Database directory tree only in UNIX and Linux platforms. 

E. ORACLE_HOME specifies the directory containing the Oracle software executables and network files. 

F. ORACLE_HOME specifies the directory containing only the Oracle software executables, but not the network files. 

Correct Answer: ACE 

 

 

QUESTION 2

Consider 10 scenarios that result in database downtime. Which five of them are considered as planned downtime? 

A. addition or removal of nodes, memory, or disks 

B. changing configuration parameters, upgrading, or patching Oracle software 

C. file deletion 

D. migrating to cluster architecture 

E. dropped database object 

F. table definition changes 

G. runaway processes that consume system resources 

H. adding table partitioning 

I. operating system or storage device / driver failure 

J. database or application deadlocks 

Correct Answer: ADHIJ 

Answer: A, D, H, I, J 

 

QUESTION 3

Which is the default port number for Database Express? 
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A. 7801 

B. 5500 

C. 2243 

D. 1521 

E. 22 

Correct Answer: D 

Reference: http://docs.oracle.com/cd/B25329_01/doc/install.102/b25143.pdf (page 4, first bulleted point) 

 

QUESTION 4

Which two statements represent where Oracle Net must reside? 

A. Only on the client for traditional client/server applications 

B. Only on the database server for web-based applications 

C. On both the web server and database server for web-based applications 

D. On both the client and database server for traditional client/server applications. 

Correct Answer: BD 

 

 

QUESTION 5

You want to drop a pluggable database from a multitenant container database that is used for development, which two
statements are true? 

A. You can drop the PDB only if it is closed. 

B. You can drop the seed PDB, but you cannot create any other PDB within the CDB. 

C. You can drop the PDB and keep the data files to be reused by another PDB. 

D. When you drop the PDB, the data files and redo log files are automatically removed from the storage file system. 

Correct Answer: AD 
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